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main.c
/*
Khkkhkhkhkkhkhkhkhkhkhkhkhkhkhhkhkhkhkhkhkhhkhhkhhkhkhkhhhkhkhkhkhkhkhkhkhkhkhkhkhkkhkhkkhkhkhhkhkhkhkhkkhkhhkhkhkhkhkhkhhkhkhhkhkhkhhkhkhkhkhhkhhhkhkhkhkhkkhkhkhkhkkhkhhkkhkhkhkkkkk
* uC/0S-11
* The Real-Time Kernel
*
* (c) Copyright 1992-1998, Jean J. Labrosse, Plantation, FL
* All Rights Reserved
*
* V2.51
*
* EXAMPLE #1
Khkhkkhkhkhkhkhhkkhkhkhhkhkhkhhkhkhkhkhhkhkhhkhkhkhkhhkhhkhkhhkhkhhkhkhkhkhkhkhkhkhkhkhkkhkhkhkhhhkhhhkhkhkhhkhkhkhkhhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkkhkhhkhkkhkhkkkhkhkhkhkkkkxk
*/
#include "stdio.h"
#include "includes.h"
/*
Kk hkkhkhkhkhkhkhkhk kA hkhkhkhkhkhkhkhkhkhk kA Ak kA hhkhkhkhkhkhhk kA A hkhkhkhkhkh kA hkhhkhhkhhkhkhkhhkhkhkhkhkhhkhkhkhhhkkhkhkhhkhkhkhkhkhkhkhhhhkhkhhkhkhkkhkhkhkhkhkkhkhkhkkhkhkhkkkkk
* CONSTANTS
hhkhkhkhkkkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhhkhkhkhkhAhkhkhkk kA A hkhkhhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkkhkhkhkhkkhkhkhkhkhkhkhkhkhkkhkhkhkhkkhkkkhkhkhkhkhkkkk
*/
//#define TASK_STK_SIZE 512 /* Size of each task's stacks (# of WORDs)  */
#define TASK_STK_SIZE 8192 /* Size of each task's stacks (# of WORDs)  */
#define N_TASKS 5 /* Number of identical tasks */
/*
dkkkkhkhkhkhkhkhkhkhkhkkkhkhkhkhkhkhkhkhkkhkhkhkhkhkhkhkhkhkkhkhkhkhkkhkhkhkhkhkhkhkhkhkhkhkhkhkhkkhkhkhkhkhkhkhkkhkhkhkhkhkkhkkhkhkhkkhkkhkhkhkhkkhkhkhkhkhkhkhkhkhkkhkhkhkhkkhkkkhkhkhkhkkkkk
* VARIABLES
hkhkkkhkkhkhkhkhkhkhkhkhkkhkhkhkhkhkhkhkhkhkkhkhkhkhhkhhkhkhkhkhkhkhkkhkhkhkhkhkhkhkhhkhkhkhkhkhkhkkhkhkhkhkhkhkkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkkhkhkhkhkkhkhkhkhkkkhkhkhkhkhkkkkkhkhkkkkk
*/
0S_STK TaskStk[N_TASKS] [TASK_STK_SIZE]; /* Tasks stacks */
0S_STK TaskStar tStk[TASK_STK_SIZE];
OS_EVENT *sem;
/*
hhkkhkhkkhkhkkkhkhkhkkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhhkhkhkhkkhkhkhkhkhkkhkhhkhkhkhhhkhkhkhkhkkhkhkhhkhkhhhkhhhkhkhkhhkhkhkhhkhkkhkhkhkhkhkhkhkhkhkhkhkkhkkhkhhkkhkhkkkkkk
* USER VARIABLES

khkhkhkhkhkhkhkkhkhhkhkhhhkhkhhkhkhhkhhkhhkhhhhhkkhhhhhkhhhhkhkhhhkhkhkhkhkhkhhhhkhkhkhkhhhkhkhkhkhkhkhkkhkhhkhkhkhkhkhkhkhkhkhkhkkhkhkhhkkhkhkhkhhkkhkhkhkhkkkkkx

*/
#define FND (*((volatile ushort *)(0x0C000002))

)
#define DOT1 (*((volatile ushort =) (0x0C000004)))
#define DOT2 (*((volatile ushort =) (0x0C000008)))
)

#define LED (*((volatile uchar *) (0x0C000016))

#define TEXT_LCD_INST (x((volatile ushort *) (0x0C000014)))
#define TEXT_LCD_DATA (*((volatile ushort *) (0x0C000012)))

#define FND_RUN 1
#define LED_RUN 1
#define TEXT_LCD_RUN 1
#define DOT_RUN 1
#if FND_RUN

unsigned char Getsegcode (int x);
#endi f
#if TEXT_LCD_RUN
#define LCD_FUNC_SET 0x38
#define LCD_DISP_SET 0x0c
#define LCD_CLEAR_SET 0x01
#define LCD_ENTRY_SET 0x07
#def ine LCD_RETURN_HOME 0x02

#define LCD_FIRST_L INE_ADDRESS 0x80
#define LCD_SECOND_L INE_ADDRESS 0xcO
#endi f

#if TEXT_LCD_RUN
void udelay (unsigned int count)

while ( count — ) {
) if (count == 0) break;
#endi f

1 WOl X
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#if FND_RUN
%nsigned char Getsegcode(int x)

#endi f

char code;

switch (x) {

}

case
case
case
case
case
case
case
case
case
case
case
case
case
case
case
case

0x0 :

0x1

0x2 :
0x3 :
0x4 :
Gx5) :
0x6 :
OX7 -
0x8 :
0x9 :
0xA :
OxB :
0xC -
OxD: =
OXE "
OxE

default

return code;

#if DOT_RUN
void dot1_display (ushort value):
void dot2_display (ushort value);

#endi f

#if DOT_RUN

#endi f

void dot1_display(ushort value)

void dot2_display(ushort value)

code = Ox3f;
. code = 0x06;
code = 0x5b;
code = Ox4f;
code = 0x66;
code = 0x6d;
code = 0x7d;
code = 0x07;
code = Ox7f;
code = Ox6f;
code = Ox77
code = 0x7c
code = 0x39
code = 0xbe
code = 0x79
code = 0x71
//case
/case

OS_ENTER_CRITICAL ()
DOT1 = value ;
0S_EXIT_CRITICAL ();
OSTimeDIly(1);

0S_ENTER_CRITICAL ();
DOT2 = value ;
0S_EXIT_CRITICAL ()
0STimeDly(1);

break;
break;
break;
break;
break;
break;
break;
break;
break;
break:

; break;
; break;
; break;
; break;
; break;
; break;

main.c

Oxm : code = 0x40; break:

0xg : code =
> code = 0; break;

0x48; break;

#define STEP_MOTOR (*((volatile ushort *) (0x0C00000C)))
#define STEP_MOTOR_RUN

#if STEP_MOTOR_RUN
#define A

#define
#define
#define
#define
#define

#define _|

#define
#endi f

/*

(unsigned
(unsigned
(unsigned
(unsigned
(unsigned
(unsigned
(unsigned
(unsigned

short)(0x1)
short) (0x5)
short) (0x4)
short)(0x6)
short) (0x2)
short)(0xa)
short) (0x8)
short) (0x9)

Kkhkkkhkhkhkhkhkhkkkhkkhkhkhkhkhkhkhkhkhkhkhkhhhkhkhhkkhkhhhhkhhkhkhhkhkhhkhhhkhkhhkhhhhkhkhhhkhhkkhkhhkhkhhkkhhkhhhkhkhkhhkhkhkhkhhkhkhkhkhkhhhkhkkhkhhkhhkhkhhhhkhkk

FUNCTION PROTOTYPES

Khkkhkhkkhkhkhkhkkhkhkkhkhkhkhkhkkhkhhkhkkhkhkhhkkhhkhkhkhhkhkhkhkhkhkhkhkhkhkhkhkhkhkkhkhkhkhkhhkhkhkhhkhkhhhhkhkhhkhkhkhkhkhhkhkhhkhkhhkhkhkkhhkhkhhkhkhhkkhkrhkkhkkkkhhkhkhkk

*

*/

void Taski(void *data)
void Task2(void xdata)
void Task3(void *data):
void Task4(void *data)

/* Function prototypes of tasks */
/* Function prototypes of tasks */

2 HIOIXI
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main.c

void TaskStart(void *data); /* Function prototypes of Startup task */
/*
hhkhkhkhkkhkhhkhkhhhkhhkhhkhkhkhkhkhkhkkhkhkhkhkhkhkhhkhkhkhkhkhkhkkhkhkhkhkkkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkkhhkhkhkkhkhhkhkkkhkhkhkhkhkkkkhkhkhkhkkkkhkhkkkkhkhkkkhkhkkkkhkkk
* MAIN
hhkkhkhkhkhkhkkhkhkhkkkhkhkhkhkkkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkkhkhkhkhkhkhkhkhkhkhkhkhhkkhkhhkhkhkhkhkhkkkhkhkhkhkkkhkhkhkhkhkhkkhkhkhkhkhkhkhkkkhkkhkhkhkkkhkhkhkkkkhkkkkhkhkkkhkkk
*/
¥oid C_Entry(void)

Seriallnit();

printf("WnC_Entry...#n"); W

0SInit(): /* Initialize uC/0S-I1I */

printf("WnOSinit...#Wn");

0STaskCreate(TaskStart, (void *)0,&TaskStartStk[TASK_STK_SIZE - 1], 4);
printf("WnOSTaskCreate...#n");

0SStartl): /* Start multitasking */
printf("WnOSStart...#n"):
}
/*
Khkhkhkhkhkkhkhkhkhkhkhkhkhkhkhkhkhkkhkhkhkhkhkhkhkhkhkhhkhhkhkhkhkhkhkhkhhkhkhhhhkhhhhkhkhkkhkhkhhkhhkhhkhkhkhkhkhkkhkhkhkhkhkkhkhkhkhkhkhkhkkkhkhkhkhkhkkhkhkhkkkhkhkhkkkhkhkhkkkhkhkkk
* STARTUP TASK
Khkkhkkhk Ak Ak hkhAkhkAhkhkhkhkhkhhkhkhkhkhkhkhkhhkhkkhkhkhkhkhkhkhkhkhkhkkhkhkhhkhkkkhkhkhkhhkhkhkkkkhkhkhkhkhkkhkkhkkhkhkhkhkkkkhkhkhkhkkhkkhkhkkhkkhkhkhkkhkkkhkhkkkhkkhkhkhkhkkkkhkkhkhkhkhkkkk
*/
¥oid TaskStart (void *data)
printf("TaskStart!!#n");
0STimer0_Period_Setting();
: 0STimerO_Interrupt_Setting(); /* Timer Enable
*
0SStatInit(): /* Initialize uC/0S-11's statistics */
printf("Task...!!#n"):
OSTaskCreate(Task1, "Task1",&TaskStk[0] [TASK_STK_SIZE - 1],6);

0STaskCreate(Task2, "Task2" ,&TaskStk[1] [TASK_STK_SIZE - 1],5);
OSTaskCreate(Task3, "Task3",&TaskStk[2] [TASK_STK_SIZE - 1],7);
OSTaskCreate(Task4, "Task4",&TaskStk[3] [TASK_STK_SIZE - 1],8);
sem = 0SSemCreate(0);

for (:3) 4

/*

printf("#n O

printf("WnRunning Task : %5d#n", 0STaskCtr); // Display
#tasks running

printf("Cpu Usage : %3d#n", OSCPUUsage); il
Display CPU usage in %

printf("Context Switches per Sec : %5d#n", (int)0SCtxSwCtr); // Display #context
switches per second

printf("#n n" ) ;

0SCtxSwCtr = 0;
*/

//0STimeDlyHMSM(O, 0, 1, 0);
// Wait one second
0STimeDly(50);

/*
hhkkkkkkhkkkhkhkhkhkhhkhkhkkkhkhkhkhkkhkhkhkhkhkhkhkhkhkkhkhkhkkhkhkhkhkhkkhkkhkhkhkhkhkhkkkhkkhkhkhhkhkkhkkhkkhkhkhhkhkkkhkhkhkhkhkkkhkhkhkhkkhkhkhkhkkhkhkhkhkhkkhhkhkhkkhkkhkhkhkhkkhkkhkkkkhkkkk
* TASKS
hhkhkhkhkhkAhk kA A hkAAhhhkhkhkhAhkhkhAhkhhkhkhkhkhhkhkhhkhhkhkhkhkhkhkhkhkhhhkkhkhkhkhkhkhkhkhkkhkhkhkhkhkhhkkhkhhkhkhkhhkkhkhkhhkkhkhkhkhkkkhhkhkhkkhkkhkhkhkhkkkhhkhkhkhkhkkkkhkhhkhkkx
*/
void Task1(void *data)

fart(Get
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main.c

printf((char *)data);

printf("

#if LED_RUN
LED = 0x01;
0STimeDly(10);
LED = Ox02;
0STimeDly(10);
LED = 0x04;
0STimeDly(10);
LED = 0x08:
0STimeDly(10);
LED = 0x10;
0STimeDly(10);
LED = 0x20;
0STimeDly(10);
LED = 0x40;
0STimeDly(10);
LED = 0x80;
0STimeDly(10);
LED = 0x00;
#endi f

printf("TASK1

0STimeDly(50);
}

¥oid Task2(void *data)

for

bl

#n");

// end value

: POST OK#n");
0SSemPost (sem) ;

printf((char *)data);

printf("
INTBU err;

Wn"):

0SSemPend(sem, 0, &err);

printf("TASK3 :

int step;

for(step = 0 ;

Pend OK#n"):

step < 8; stept+ ){

#if STEP_MOTOR_RUN
LA =08 > A = B

STEP_MOTOR =
0STimeDly(1);
STEP_MOTOR =
0STimeDly(1);
STEP_MOTOR =
0STimeDly(1);
STEP_MOTOR =
0STimeDly(1);
STEP_MOTOR =
OSTimeDIy(1)2
STEP_MOTOR =
OSTimeDly(1);

0STimeDly(1);

A
AB:
B:

_A
_A_B:
STEP_MOTOR = _B

STEP_MOTOR = A_B;

0STimeDly(1);
#endi f

}

0STimeDly(50);

¥oid Task3(void *data)

fer (e

) 4

4 HOIXl
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printf((char *)data);

printf("

0STimeDly(50);

¥oid Task4(void *data)
for (G

printf((char *)data);

printf("
0STimeDly(50);

#n'");

Wn");

main.c
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main.c
/*
hhkkhkhkkhkhkhkkhkhkhkkhkhkhhkhkhkhkhkhkhhkhkkhkkhkhkhkhhkhkhkhkhkhkkhkhkhkkhhkhkhkhhhhkhkhkhkhkhkhkhhhkhkhkkkhkhhkhkhkhkhkhkhkhhkkkhkhkhhkhkkhhkhkhkhhkhkhdkkhkhkkkhhkkhkk
* uC/0S-11
* The Real-Time Kernel
*
* (c) Copyright 1992-1998, Jean J. Labrosse, Plantation, FL
* All Rights Reserved
*
* e
*
* EXAMPLE #1
dhkkkhkhkhkhkhkhkhkhkhkkkhkhkhkhkkkhkhkhkkhkhkhkkhkhkhkhkkhkhkhkhkhkkhkhkhkhkhkkhkhkhkhkhkhkhkkhkkhkhkhkhkhkhkhkkkhkhkhkhkhkhkkhkhkhkhkhkkhkkhkhkhkhkkhkkhkhkhkkhkkhkhkhkhkkhkkhkhkhkhkhkkkkhkhkhkhkhkkkkk
*/
#include "stdio.h"
#include "includes.h"
/*
dhkkkhkhkkkhkhkkhkhkhkkhkhkhkhkkhkhkhkhhkhkkhhkhhkhhkkhkhkhkkhkhkhkhkhhkkhhkhhkhkhkhkkhkhkhkhkhkkhkhhkhkkhkhkhkhkhkhhkhkhhhkkhhkhkhkhkhkhkhkhkhkhkhkhkkhkhkhkkhkhkkkhkhhkhkkkhk
* CONSTANTS
KA A A A A A KA A AR A A AR A A A A A A AR A A A AR A A AR Ak A A kA Ak kA hhkhkhkhkhkkhkkhkhkhkhkhkhkhkhkhkhkhkhhkkhkhkhkhkhkkhkhkhkhkhkkhkhkhkhkhkkhkhkhkhkhkkkkhkhkhkkkkkkkkk
*/
//#define_ TASK_STK_SIZE 512 /* Size of each task's stacks (# of WORDs) =/
#define TASK_STK_SIZE 8192 /* Size of each task's stacks (# of WORDs) */
#define N_TASKS 5 /* Number of identical tasks */
/*
hhkkkhkhkhhkhkhkhkhkhkhkkhkhkhkhkhkkkhkhkhkhkhkhkhkhhkhkhkhkhhkhkkhkhhhkhkhkkkhAhkhkhhkhkhkhkhkhkhkhkhkhkhkhhkhkhkhkhkhkhkhkhkhkhkkhkhkhkhkhkkhhkhkhkkhkhkhkhkhkhkkhkhkhkhkhkhkkhkhkhhkhkhkkkkk
* VARIABLES
dhkhkkhkhkkhkhkhkhkkhkhkhkhkkhkhkhkhhkkhkkhkhkhkhkhkhkhkhkkhhkhkhkhkhkkkhkhkhkhkhkhkhkhkhkhhkhkhkkhkhkhkhkkhkhkhkkhkhkkkhhkhkhkhkkhkhkhhkkhkhhkhkhkhkhkhkkhkkhkhkhkhkhkkhkkkkhkkkkkhkhkkkkkk
*/
0S_STK TaskStk[N_TASKS] [TASK_STK_SIZE]: /* Tasks stacks */
0S_STK TaskStar tStk[TASK_STK_SIZE];
OS_EVENT =*sem;
0S_EVENT *mb;
/*
Kk kkhkhkhkhkhkhkhhkhkkkhkhkhkhkhkhkhkhkhkhkhhkhkhkhkhkhkhkkhkhkhkhkkhkhkhkhkhkhkhkhkhkhkhkhkhkkkhkhkhkhhkhkkhkkkhkhkhkhkkkhkkhkhhkkhkhkhkhkhkkhkhkhkhkkhkkhkhkhkhkhkkhkhkhkhkhkkhkkkkkhkhkkkkk
* USER VARIABLES
khkkkhkkhkkhkhkhkhkhkhkhkhkkkhkhkhhkhkhkkhkhkhkhkkhkhkhkhkhkhkhkhkhkhkhkhkhkhkkhkhkhkhkhhkkkhkhkhkhkhkhkkkkhkhkhhkhkkkhkkhkhkhkhkkkhkhkhkkkhkhkhkhkkhkhkhkkhkkhkhkhkhkkkkhkhkhkkkkkkhkhkhkhkkk
*/

#define FND (*((volatile ushort =*)(0x0C000002))

( )

#define DOT1 (*((volatile ushort *) (0x0C000004)))

#define DOT2 (*((volatile ushort *) (0x0C000008)))
( ( )

#define LED (*((volatile uchar *) (0x0C000016))

#define TEXT_LCD_INST (*((volatile ushort *) (0x0C000014)))
#define TEXT_LCD_DATA (*((volatile ushort *) (0x0C000012)))

#define FND_RUN 1
#define LED_RUN 1
#define TEXT_LCD_RUN 1
#define DOT_RUN 1
#if FND_RUN

unsigned char Getsegcode (int x);
#endi f
#if TEXT_LCD_RUN
#define LCD_FUNC_SET 0x38
#define LCD_DISP_SET 0x0c
#define LCD_CLEAR_SET 0x01
#define LCD_ENTRY_SET 0x07
#define LCD_RETURN_HOME 0x02

#define LCO_FIRST_LINE_ADDRESS 0x80
#define LCD_SECOND_L INE_ADDRESS 0xcO
#endi f

#if TEXT_LCD_RUN
void udelay (unsigned int count)

while ( count — ) {
if (count == 0) break;

I
#endi f

1 HOIX

SE



code
code

#if FND_RUN
unsigned char Getsegcode(int x)
char code;
switch (x) {
case 0x0 : code = 0x3f; break;
case Ox1 : code = 0x06; break;
case 0x2 : code = Ox5b; break;
case 0x3 : code = Ox4f; break;
case 0x4 : code = 0x66; break;
case 0x5 : code = 0x6d; break;
case 0x6 : code = 0x7d; break;
case 0x7 : code = 0x07; break;
case 0x8 : code = Ox7f; break;
case 0x9 : code = Ox6f; break;
case OxA : code = 0x77; break;
case OxB : code = Ox7c; break;
case 0xC : code = 0x39; break;
case 0OxD : code = Ox5e; break;
case OxE : code = 0x79; break;
case OxF : code = 0x71; break;
//case Oxm :
//case 0xq :
) default : code = 0; break;
return code;
#endi f
#if DOT_RUN

void dot1_display (ushort value);
void dot2_display (ushort value):
#endi f

#if DOT_RUN
void dot1_display(ushort value)

0S_ENTER_CRITICAL ()
DOT1 = value ;
0S_EXIT_CRITICAL ();
0STimeDly(1);

void dot2_display(ushort value)
OS_ENTER_CRITICAL ();

DOT2 = value ;
0S_EXIT_CRITICAL ()

#endi f

0STimeDly(1);

main.c

0x40; break;
0x48; break;

#define STEP_MOTOR (*((volatile ushort =) (0x0C00000C)))
#define STEP_MOTOR_RUN 1
#if STEP_MOTOR_RUN

#define A (unsigned short)(0x1)
#define AB (unsigned short)(0x5)
#define B (unsigned short)(0x4)
#define _AB (unsigned short)(0x6)
#define _A (unsigned short)(0x2)
#define _A_B (unsigned short)(0xa)
#define _B (unsigned short)(0x8)
#define A_B (unsigned short)(0x9)
#endi f

/*

khkkkkkkhkkhkkhkhkhkhkhkhkkhhkhkkhkhkhkkhhkhkhkhkhkhkhkkhkhkhkhkkhkhkkhkhhkhkhkhkhkhkhkhkkhkhkhkhkhkkhkhkhkhhkhkkhkhkhkhkhkkhhkhkhhkhkhkhkhkhkhhkkhkhkhkhkkkhkhkhkhkhkkhkhkhkhkkkk

*

FhkkhkkkhkhkhkhkhhkhhkhkhkhhhkhhhkhkhkAhkhkAAkhkhkkhkhkhhkhhkhkhhhkhkhkhhhkhhhkhkkhhhkhkhhkhkkhhhhkhkhkhkhhhkhhkhkhhkhkkhkkkkkhkhkhkhkkkhkhkkhkkhhkhhkhkkhkkhkkkk

*/

void Taski(void xdata):
void Task2(void *data);
void Task3(void *data);
void Task4(void *data);

FUNCTION PROTOTYPES

/* Function prototypes of tasks
/* Function prototypes of tasks

2 HIOIXl
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main.c
void TaskStart(void *data); /* Function prototypes of Startup task x/
/*
Khkhkkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkkhkhkhkhkhkhkhhkhkhkhkhkhkhkkhkhkhkhkhkhhkhkhkhkkhkhkhkhkkkhkhkhkhkkhkhkhkhkkhkhkhkhhhkhkhkhkkhkkhkhkhhkhkkhkhkhhkhkkkkhkhkhkhkkkhkkhkhhkkhkkhkhkhkkkhkhkkkkhk
* MAIN
Khkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkkkhkhkhkhkhkhkhkhkkhkhkhkhkhkhkkhkhhkhkkhkhkhkhkhkhkhkhkhhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhhkhkhkhkhkkhkhkhkhkkhkkhkhkhhkhkkkhkhkkkhkhkhkkkkkkkkk
*/

¥oid C_Entry(void)

Init();

("WnC_Entry.. .#n"):

0SInit(); /* Initialize uC/0S-II */
("WnOSInit...#Wn"):

0STaskCreate(TaskStart, (void *)0,&TaskStartStk[TASK_STK_SIZE - 1], 4);
printf("WnOSTaskCreate.. .#n");

0SStart(); /* Start multitasking */
printf("#WnOSStart...#Wn");

/*

e e ok ok e ok ok ok ok ok ok ke ko ok ok ok o ko ok ok ok ok ok ok o ok ok ok o ek ko ok ok ke ke ko ok ok ok ok ke ok ok ok ok ok ok ok ek ke ok ok ok ok ok ok ok ok ke ok ok ok ok ek ok ok ok ok ok ke ok
* STARTUP TASK

e ok ok e e ok ok ok ek ok ok ok ok ke ek ok ok ok ok ok ok ok ko ok ok ok ke ok ok ok ko ok ok ok ok ok ok ok ok ok ok ok ok ko ok o o ke ke ok ok ok ok o ok ke ke ok ok ok ke ok ok o ok ko
*/

goid TaskStart (void *data)
printf("TaskStart!!#n");
0STimer0_Period_Setting();

o OSTimerO_Interrupt_Setting(); /* Timer Enable
0SStatInit(); /* Initialize uC/0S-11's statistics */
printf("Task...!!Wn");
OSTaskCreate(Task1, "Task1",&TaskStk[0] [TASK_STK_SIZE - 1],6);
OSTaskCreate(Task2, "Task2",&TaskStk[ 1] [TASK_STK_SIZE - 1],5);
OSTaskCreate(Task3, "Task3",&TaskStk[2] [TASK_STK_SIZE - 1],7);
OSTaskCreate(Task4, "Task4",&TaskStk[3] [TASK_STK_SIZE - 1]1,8);

sem = 0SSemCreate(0);
mb = OSMboxCreate(0):

for Cia) 4

/*

printf("#n )8

printf("WnRunning Task : %5d#n", 0STaskCtr): // Display
#tasks running

printf("Cpu Usage : %3dfn", OSCPUUsage); [
Display CPU usage in %

printf("Context Switches per Sec : %5d#n", (int)0SCtxSwCtr): // Display #context
switches per second

printf("#Wn fin" ) ;

0SCtxSwCtr = 0;
*/

//0STimeD|yHMSM(O, 0O, 1, 0);
// Wait one second
0STimeDly(50);

/*
khkkkhkkhkkhkhkhkhkhkhkhkhkhkkhkkhkhkhkhkhkkhkhkhkhkkhkhkhkkhkhhkhkhkkhkhkhkhkkhkhkhkhhkkkhkkhkhhhkhkkkhkkkhkhkhkhkhkkkhkkkhkhkhkhkkkhkhkhkkhkkhkhkhkkhkhkhkkhkkhkhkhkhkhkkkhkhkhkhkhkkkkkkhkhkhkkkkk
* TASKS
khkkkhkkhkhkhkhkhkhkhkhkhkkkkhkhkhkhkhkkhkhkhkhkkhkhkhkhkhkhkhkhkhkkhkhkhkhkhkkhkkhkhkhkhkkkhkhkhkhkhkhkhkkkhkhkhkhkhkhkkkhkhkhkhkhkhkhkhkhkhkhkkhkhkhkhkkhkhkhkhkkhkhkhkhhkkkhkhkhkhkhkkhkkkhkkhkhkhkhkkk
*/
void Task1(void *data)

fior (i) d
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printf% char *)data);

main.c

printf("

INT8U key = 3;

printf(" key = %d #n", key);
0SMboxPost (mb, (void*)key)
0STimeDly(50);

}

¥oid Task2(void *data)
far (i) f

#n");

printf((char *)data):
printf("

int in=0;

INT8U err;

in = 0SMboxPend(mb, 0, &err);
printf(" sound = %d #Wn", in);
0STimeDly(50);

¥oid Task3(void *data)

for (i)
printf((char *)data):

Wn");

printf("
0STimeDly(50);

¥oid Task4(void *data)

for (5;) {
printf((char *)data);

printf("
0STimeDly(50);

Wn");
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